Berechne die Spurpunkte:

e 7=(3)es (3) e ()
— Sx(x1010):

X -A 0 3
(8)-(3)-s (3) e 3)
[ x=-A+3%
I 0=2+2s+t
M 0=-U-3s-t [+t
IMnach t: t=-4-3s
bin T 0=2+2s+2-(-4-3s)
0:=2+ds-8-6s
0=-6-Us l+ks
bs=-6 -4
S=-AS
sint: t=-4-3(A5) =-4+t45=05
binl: I x=-4+305:=-A+A5=05

—‘511(0|%|0)=
(§)=(4)(3)3)
L0=-A+%
[Yy=2+2s+ 2t



Berechne die Spurpunkte:
-4 0 3
-
ER=(3)es (3) e (B)

[nacht: 0=-A+3t |-2

"3t = -3
t=1
tinll: M 0=-b-3s-%
0=-2.35  [+3s
33=-£2 -3
g=- £
SLinT: y=2:21-%)42-4
26 .2
= Q-5+
A2t

— S;(0l0l2):
L0=-A+%
[0:=2+2s+t
Mz2=-4-3-t
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Berechne die Spurpunkte:

FA UL

[nacht: 0=-A+3t |-%

-3t ==A |:(-3)
t=4
tinl: 0=1*1$+2"§ |-2s
-A5=2+3
-2+ % |:-2)
s=-4

el 2=-4-3(-4)-4
=-heb-d =4 — Sulolol-4)



